ﬁ @ % W 4eThIpe ApoOH, TeCATUUHBIE IPOOH, TOPSTOK
oreparmii o CKOOKaMu

Nwms: Jara: Orenka:
3 1 1
-—2(5,6-3,1) = —+ =)x5-5,2=
5 (9 b ) (2 3) )
1 3
§X25+5+4(3,7+2,8)= 3,2x15+3+2(2,5—§)=
3 3 3
47— =) 4x4— == 12(= — ~4 x 4 — =
1 1 3 2
2—— + - = 2,8+ - - ==
(5, 6)><5 3 2,8 4)><3 .

45,8-5,9)=2x2 45 = (4+3,2)x2+2,3 =
9 9 4
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4eThIpe ApoOH, TeCATUUHBIE IPOOH, TOPSTOK
oreparmii o CKOOKaMu

Nwms:

3 22 2
= -25,6-3,1)= () =(47)

1 57 1
5 X25+5+403,7+2,8) = 5 = 28

2
8(4,7—%)+4x4_%:31£:30%
4(5,8—5,9)+2x2+%:%

Jara: Orenka:

1 1 31 1
Z+ = —5.2=(— = (-1

3.9 4
3,2%15+3+2(2,5- 2) = — = 19-
o 23737575

136

3 1
12(2-3,3)+4x4—56=(——)= (27

3
(2,8+7)x3-

167 7
443,2)x2+2,3= — = 16—
(4+3,2)x2+2,3= -+ = 165
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